Puzzle Booklet Page |1
Numberlink

Connect every pair of digits through horizontal/vertical paths such that no two paths
touch or cross each other.

6x6 <7
1 point 2 points

vV V V A4 \'4

> 1 1
2 31 Pl 2 3
> > 4 5
1 5 43
»> 1
P 3 2
8x8
3 points
Y YV V
1
> 2
3
Pl 1 4 3 5
2 4 6
) 5
6

Answer Key: Enter length of largest line segment in marked row/column. Enter ‘0’ if there
are no line segments along the marked direction.
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Connect every pair of digits through horizontal/vertical paths such that no two paths

touch or cross each other.

10x10

5 points

vV V

\'4

4

5

1

Answer Key: Enter length of largest line segment in marked row/column. Enter ‘0’ if there
are no line segments along the marked direction.
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Star Battle
8x8
4 points

Place stars in the grid such
that every row, column and
thick-outlined region
contains two stars. Stars
cannot touch each other,
not even diagonally.

Star Battle
9x9
7 points

Place stars in the grid such
that every row, column and
thick-outlined region
contains two stars. Stars
cannot touch each other,
not even diagonally.
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A B CDEF GH

A B CDUEVFGHTI

Answer Key: Enter column of left-most star of each row from top to bottom.

puzzle Facaygan Classics



Puzzle Booklet

Star Battle
9X9
6 points

Place stars in the grid
such that every row,
column and thick-
outlined region
contains two stars.
Stars cannot touch
each other, not even
diagonally.

Star Battle
10X10
3 points

Place stars in the grid
such that every row,
column and thick-
outlined region
contains two stars.
Stars cannot touch
each other, not even
diagonally.

Answer Key: Enter column of left-most star of each row from top to bottom.
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Fence

Draw a single closed loop that does not touch or cross itself. Digits in the grid indicate
the amount of line segments of that cell used by the loop.

6x6 <7
1 point 3 points
vV VvV V vV VV
o o o o ([ o [ [ (] o o ([ J ([ [ J [ J
3 3 3 1 1 1
» (] (] o [ [ [ ] [ ] » [ o (] o ( J ([ J ([ J [ J
3 1 1 1 3 (%] 3
o o [ o o o [ ] o [ ([ o ([ J o o ([ ]
2 1 1 1
b o o (] o (] [ ] [ ] » o o ([ o ( J o (] ([ ]
1 2 2 2 1 (%] 3
b L L o ® ® e ® [ [ [ [ ] o ® ( o
1 3 1 1
] ® o ® o ® ® b [ [ [ [ o o (] o
3 3 3 3 2 3 1 (%] 1
[ ] ® ® ® ® o ® [ [ [ [ (] (] (] ([

8x8

3 2 2
© o o o o o o o o
3 2 3 2 2 2 2
© o o o o o o o o
1 2 2 2
© o © o o o o o o
2 2 2 2 2
bo e o o o o o o o
3 1 2 2 2
e o o o o o o o o
1 2 2 1 3
bo e o o o o o o o
2 1 3
© o o o o o o o o
1 3 2 3

Answer Key: Enter length of largest line segment in marked row/column. Enter ‘0’ if there
are no line segments along the marked direction.
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Fence

Draw a single closed loop that does not touch or cross itself. Digits in the grid indicate
the amount of line segments of that cell used by the loop.

10x10
6 points
vV V v
® e o o o o o o o o o
» ® o o o o o o o o o o
2 0 1 1 2 2
® e o o o o o o o o o
2 1 1 3
® o6 o o o o o o o o o
1 1 2 1 1 2 1 1
® o o o o o o o o o o
3 3 1 1 3 3
® o o o o o o o o o o
2 2 1 1 2 2
b ® e o o o o o o o o o
2 2 1 1 2 2
® o o o o o o o o o o
3 3 1 1 3 3
b ® o o o o o o o o o o
2 2 1 1 2 2
® o o o o o o o o o o
1 1 2 1 1 2 1 1

Answer Key: Enter length of largest line segment in marked row/column. Enter ‘0’ if there
are no line segments along the marked direction.
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Hitori

Shade cells such that digits do not repeat in rows and columns. Shaded cells cannot be
adjacent to each other and all unshaded cells must be orthogonally connected.

6x6 <7
3 points 5 points
VVV VVV
265 4|6 23|56 4 3
5/4/2|5|1 6 57, 6,1, 2 2 3
63/ 5/1/2 4 512142 7 |4
3.1/5/4 4|3 12 4|3 5|7 4
12/ 6354 41312 3|1/6|7
4123 6|15 /714 62 1|55
3/11/4 5/6 1|2
8x8
6 points
vV V V
4175 5|82 3|1
6834 27 8|1
716 6, 2/4[(3|4 |5
612 7/1/1/2 6 4
54335827
112/ 26|75 5 4
3.3/4/ 6|57 12
21 5 53|24 3

Answer Key: Enter the length of continuous areas of shaded and unshaded cells in the
marked rows/columns.
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Hitori
10x10
7 points

Shade cells such that digits
do not repeat in rows and
columns. Shaded cells
cannot be adjacent to each
other and all unshaded
cells must be orthogonally
connected.

Hitori Blocks
[Exploratory]
10x10
12 points

Shade blocks of size 2x1
such that digits do not
repeat in rows and
columns. Shaded blocks
cannot be adjacent to each
other and all unshaded
cells must be orthogonally
connected.

Page |8
vV V \ 4
9 8 6|72/ 63|94 1
412,825 7/3/3/9/9
6 6 3/2/1/1 7 8 8|5
4 6981 47723
/7548 3 66|11 2
33/ 4/1/5/5 9978
23144 8 8 567
29/ 3/ 3|77 56,64
5/2/2 66 3|4/ 4/8 9
11 55|89 9 237
vV V A4
5/2/3 521|363 |9
2/ 61 643 85 7|1
15 7/7/2/4 4 968
411 5|2/ 6/2/2 1|82
6 91174 3829
314/ 6 2 1 756 2|2
3/9/2 3 3 6|54 1|2
9 34,286 71|58
1 3 8/ 792 65 4|3
8 91/ 4/8/1 6237

Answer Key: Enter the length of continuous areas of shaded and unshaded cells in the

marked rows/columns.
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Four Winds

Draw one or more horizontal or vertical lines from each nhumbered clue so that all blank
cells are connected to exactly one of the numbers. Lines cannot enter other numbered
squares or intersect with other lines. Each number represents the total number of blank
cells occupied by the lines from that number.

6x6 7x7
2 points 3 points
vV VVv oA A 4
) g 2 4 4
3 4 4
5 1 > 1
> 5 4 1 2
< IRE D 2
3 Pl 4 4
2 5
8x8
5 points

v Vv

Pl 4 6
Pl 3 3

Answer Key: Enter length of largest line segment in marked row/column. Enter ‘0’ if there
are no line segments along the marked direction.
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Four Winds
10x10
5 points

Draw one or more
horizontal or vertical lines
from each numbered clue
so that all blank cells are

connected to exactly one of
the numbers. Lines cannot
enter other numbered
squares or intersect with
other lines. Each number
represents the total number
of blank cells occupied by
the lines from that number.

Walls
[Exploratory]
8x8
6 points

Place a horizontal or a
vertical line in every blank
cell. A number indicates the
total length of the segments
connected to that square.
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»

»

1 1
1 1 1
1 1 1
3 1 1 1
2 2 1
3 1 1 4
1 1 2 2
1 1 3
2 1
3 4
vV V
3 3 1
> 2
)5 2 1
3 7 4
3 1
P> 3
4 1
1 5 2

Answer Key: Enter length of largest line segment in marked row/column. Enter ‘0’ if there

are no line segments along the marked direction.
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SOLUTIONS

Numberlink 1 Numberlink 2 Numberlink 3
1 1
2 2 3 2
4 5 3
1 5 4 3 1 4 3 5
1 2 4 (6]
2 5
6
Numberlink 4 Star Battle 1
2
| K
3 4 7% 7%
4 3 7% 7%
? x| &
| |k
¥ K
S
2 6 e e
5 1
Star Battle 2 Star Battle 3
*| % * *
*| |k * )¢
* ¥ ¥ %
L3S L3S w| Kk
* )¢ ¥ )¢
¥ * ¥ ¥
* ¥ ¥ ¥
w *® ¥ *®
*® *® *® *
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Slitherlink 1

Star Battle 4
A B CDEFGHTIJ

313[3]3]2 3

Slitherlink 3

Slitherlink 2

\ 4

@

212 22

3123 2 2]2 2

@

Hitori 1

3 BBk

Slitherlink 4

6]

63 |Bl 1|2 (EW

B s 4@ 3
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Hitori 3

TEE BEE

Hitori 2

2[3]s5]6]7]4 BN

B8 3 2 3

1]

c 3|22 (lls|1

7 6@l 2| 4|3 5

(A S AR

54|l 3Belz2|7

1B 26|78 s |
Bz s @5 7|1]2
5

4151612

4828167

71462l s BN

3

Hitori Blocks

Hitori 4

2 (NN 6|4 |3 >5|7]|2

157 | 2 |+ B s B
s1|s5 @ ¢ @ 2 # s B

oM 1|7 /4|3|8[2]09

HE-:H: a8

o|3(4/2]8|6|7|2|5|H

Bl 722 BB 4|3

8914!!6237

al2|e(Bls|7 (B 3|0 BN
oz 2178 @ 5

s o128 7|23

705 ls 3@ 6|1 (Il 2

29| 3|7 (M 5|6 |l 4
SN2 6 (83|28 s|o

Bz 1| 2 @ s 6|7

|!1 5!8 9!2 3!|
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SOLUTIONS

Four Winds 1 Four Winds 2 Four Winds 3
i > ] 4 } } } Z } 4 ] T g
i IR (4 | | 2 ) 5 |
75 1 B | ] ] 1 BNl 3 3
5 4 nE 1 77277777 A O
5 } 2 HEEEEE B 4 n
B BE 4 4 B
2T e - |4 6
2T = B ;
HE== —3
Four Winds 4 Walis
i 1 1 1 1 | 2 2 |
1RE! 1 1 1 i 2 1 -
3 2 1 1 1 3 7 4 ||
2 1 2 1 BRE 3 1|
3 1 1 1 4| B > 3
1 1 2 2 | ] 4 1
1 1 1 3 .
-] = 1 5 2
1 2 1
3 —1 T
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